	ANNEXURE -A

	DAV PUBLIC SCHOOLS, ODISHA ZONE 

	NAME OF THE EXAM PERIODIC ASSESSMENT - II, SUBJECT – L.HINDICLASS : V

	BLUE PRINT OF QUESTION PAPER


	Sl.No. 
	Content Unit/Form of questions
	LA-l        
(5Marks)
	LA-ll        (4Marks)
	SA-l
(2Marks)
	SA-ll
(1Mark)
	VSA
(1/2 Mark)
	MCQ
(1Mark)
	Total Marks

	1
	पठन
	
	
	
	5¨1=5

	
	
	5

	2
	लेखन
	
	1¨4=4

	
	
	
	
	4

	3

	व्याकरण
	
	
	
	6¨1=5

	
	
	6

	
4

	साहित्य
	
	
	2¨2=4

	1¨1=1

	
	
	5

	TOTAL
	0
	4
	6
	10
	0
	
	20


N.B. Figures within the brackets indicates the number of questions and figures outside the brackets indicate marks.
Summary:
Types of questionNo.Marks
         Long Answer (LA)                              1          4
         Short Answer(SA-1)                          2           6
         Short Answer(SA-2)                          5           5
         Very Short Answer(VSA)                  5           5
         
       							  20

Scheme of sections – A,B,C,D
WEIGHTAGE LEVEL:
Difficult questions   - 14%
Average questions   - 60%
Easy   questions      -   26%




	ANNEXURE -B

	DAV PUBLIC SCHOOLS, ODISHA ZONE 

	NAME OF THE EXAM - PERIODIC ASSESSMENT - II, SUBJECT – L.HINDICLASS : V

	QUESTIONWISE ANALYSIS

	Sl No
	Chapters / units
	Forms of Question-
( LA, SA-II, SA-I,VSA)
	Marks Allotted
	(R), (U), (A),  (H), (E)

	1 
	अपठित गद्यांश
	SA-II

	5
	 (U)

	2
	 अनुच्छेद
	LA-I
	4
	(A)

	3 
	उचित मात्रा लगाइए
	SA-II

	2
	(R)

	4 
	 विलोम शब्द 

	SA-II

	2
	 (A)

	5  
	वर्णों को सही क्रम में लिखिए

	SA-II

	1
	(A)

	6


	गिनती 

	SA-II

	1
	(E) 


	7
	प्रश्नों के उत्तर 
	SA-I
SA-II

	4
1
	(R)













	ANNEXURE - C

	DAV PUBLIC SCHOOLS, ODISHA ZONE

	NAME OF THE EXAM- PERIODIC ASSESSMENT - II, SUBJECT – L.HINDI  CLASS : V

	MARKING SCHEME

	QSTN NO
	VALUE POINTS 
	MARKS ALLOTTED
	PAGE NO. OF SCERT TEXT BOOK 

	1
	क)अकबर के दरबार में एक कलाकार आया। 
ख )गुड़ियाँ एक समान थी।
ग) अकबर को गुड़ियाँ प्यारी लगीं।
घ) मंत्री पहेली को सुलझाने में असफल रहे।
ङ) अकबर ने गुड़ियों को उठाकर करीब से देखा

	1+1+1+1+1
	 -

	2
	विषयवस्तुऔर गलतियों  को देखकर अंक दिए जाएँगे।
	1+2+1
	 -

	3
	कायर,मेहनत
	2×1=2
	 45

	4
	गुलाम,ज्ञानी, 
	2×1=2
	 47


	5
	भरत
	1×1=1
	 53


	6
	[bookmark: _GoBack]३०
	1×1=1
	 


	7

	 क)चीकू को रास्ते में भेड़िया और लोमड़ी मिले।
ख) जो रण से भागे उसे कायरकहते हैं।
ग)स्वामी जी के अनुसार हम गुलाम जापाँत के कारण- हैं।

	2+1+2=5
	31,33,37

	8
	)महेशदास अकबर के राज्य के एक गाँव में रहता था. क 
ख).)अकबर का दरबार गुणी व विद्वान लोगों से भरा हुआ था।
ग)पिंजरे में शेर था।
घ)फारस के राजा का अच्छा दोस्त बादशाह अकबर था।
	1+1+1+1
	3,4,5,6





